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GENERAL MATHEMATICS SSC-lI
SECTION — A (Mirks 15)

Time allowed: 20 Minutes

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes snd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B / C/D. Each part carries one mark.

(i) If P(y)=3y"+ % +9, then P(0)is equal to:

A. 9 B. 37 C 12 D 0
. 4

(i) \/3_ \ 5\/3_ , %\5 are;

A Unlike surds  B. Similar surds C. Equal surds D. Conjugate surds
(iii) (a+b)a* —ab+b")=

A. a-b B (a+b) C. (a—b) D. a +b
() Factorization of a* —1 is:

A (@—1a+a" +1) B. (a—1¥a® +1)

C. (@+ (@ -1 D. (a® +1)a+1)
V) LCM x HCF

First Expression

A Second expression B. 1

C. HCF D. LCM
(vi) Any value of the variable which proves the equation a true statement is called the:

A Equation B. Inequality C Solution D. Variable
(vij  Factorization of 2x” = 3x is:

A 0 B. x(2x-3) C. 2x* —3x D. 3x-2x°
(viiy  In matrices (AB) =

A A B. B C. A'B D. B' A
(ix) A polygon with four equal sides is called:

A Pentagon B. Triangle C. Rectangle D. Square
(x) The sum of the internal angles of a triangle is:

A. 90° B. 360° C. 270° D. 180°
(xi) The altitudes of a triangle are:

A. Concurrent B. Callinear C. Non collinear D. 5

(xii) How many tangent lines can be drawn at the point of intersection of two different touching circles?

A Only cne B. Two C. Three D. Four
(xii)  Area of rectangle is.
1 2
A Ixb B Slxb C. %x(l+b) p. I
(xiv) A point in the first quadrant is characterized by the fact that both of its coordinates are:
A Zero B. Negative C. Positive D. Alternate signs
(xv) Area of semicircle is:
3 3 ﬂr2
A F B. Tr C. 2rr D. 5T
For Examiner’s use only:
Total Marks: 15
Marks Obtained: ]
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Time allowed: 2:40 Hours Total Marks Sections B and C: 60

GENERAL MATHEMATICS SSC-lI yo

NOTE:

Attempt any NINE parts from Section ‘B’ and any FOUR questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Graph paper will be provided on regquest.

Note:

Q.3
Q4.

Qs.
Qe.
Q7.

Q8.

SECTION — B (Marigg 36)

Attempt any NINE parts. All parts carry equai marks. (9x4=36)
(i) By using formula factorize 64a® —b°
. 17
(i) Rationalize the denominator and simplify; — -
37 +243

iy If P(x)=23x" +kx—26is divided by x — 2, then find ‘K’ if the remainder is zero.

(iv) Solve the inequality é—x >—l:(x~vl).

(V) Solve by factorizing method: 2x = 2 +3
X

(vi) The product of two consecutive positive numbers ig 156. Find the numbers.

-2 445 541 -1
(vil) Find the matrix product
0 =31 =312 O

12 1
(viiy  Let M = find M.
3 4

{ix) Find the value of x in the given triangle.

{x) Caonstruct a tnangle whose two sides are of length 7 cm and 5 cm and the included angle between them
is 45°.
(xi} Find the hypotenuocus of the right triangle each of whose leg is /.

(xii) A cone has a circular base of radius 14cm, a height of 48cm, calculate the volume of the cone.
(i) Find the volume of a cube of side 4cm.

22
(xiv)  Calculate the radius of a sphere of volume 850m’® take 7 tc be 7 .

SECTION-C 24

Attempt any FOUR questions. All questions cafry equat marks. (4 x 6 = 24)

If x* +1x’ + mx’ +12x+9 is a complete square then find the values of /and m
Sx+6y=25

Solve the simultaneous equations by matrix inversion method
3x+4y=17

Solve and check extraneous roots if anyvSn+9 = n—1
Show that the paints A(—2,11), B(—6,-3)and C(4,-9)are vertices of a scalene triangle.

Find the area of the washer shown below, whose outer diameter 1s 6.4cm and the diameter of the hole

1s 3.6cm (ﬂ' = 22)
7

Find the area of a parallelogram if its two adjacent sides are 12cm and 14cm and diagonal is 18cm.
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